

activités mentales 9 page 255

Sésamath

Maths 1S



Simplifier $\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k$.

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = (n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12}) - (n_6 + n_7 + n_8 + n_9)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = (n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12}) - (n_6 + n_7 + n_8 + n_9)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12} - n_6 - n_7 - n_8 - n_9$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = -n_6 + n_{10} + n_{11} + n_{12}$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = (n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12}) - (n_6 + n_7 + n_8 + n_9)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12} - n_6 - n_7 - n_8 - n_9$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = -n_6 + n_{10} + n_{11} + n_{12}$$

$$\text{ou bien } \sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=7}^9 n_i + \sum_{i=10}^{12} n_i - \left(n_6 + \sum_{k=7}^9 n_k \right)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = (n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12}) - (n_6 + n_7 + n_8 + n_9)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12} - n_6 - n_7 - n_8 - n_9$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = -n_6 + n_{10} + n_{11} + n_{12}$$

ou bien
$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=7}^9 n_i + \sum_{i=10}^{12} n_i - \left(n_6 + \sum_{k=7}^9 n_k \right)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=7}^9 n_i + \sum_{i=10}^{12} n_i - n_6 - \sum_{k=7}^9 n_k$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = (n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12}) - (n_6 + n_7 + n_8 + n_9)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = n_7 + n_8 + n_9 + n_{10} + n_{11} + n_{12} - n_6 - n_7 - n_8 - n_9$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = -n_6 + n_{10} + n_{11} + n_{12}$$

ou bien
$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=7}^9 n_i + \sum_{i=10}^{12} n_i - \left(n_6 + \sum_{k=7}^9 n_k \right)$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=7}^9 n_i + \sum_{i=10}^{12} n_i - n_6 - \sum_{k=7}^9 n_k$$

$$\sum_{i=7}^{12} n_i - \sum_{k=6}^9 n_k = \sum_{i=10}^{12} n_i - n_6 = n_{10} + n_{11} + n_{12} - n_6$$